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l. & FH=7ht (a) BHHEAK  (b) #A=3,B=2,C=6,D=2 > HEMELe
B sE s atenE (20%)

2. #% 50, 40, 30, 65, 60, 45 F&E# - (AIRAFA=AHT (b)) BHAA
K (c) #Ric(a) BIPMRO0ehts HERB - HEE (30%)

3. HTHE &A= Ti (10%)
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4. TP, &k “x=xt1” #iTzkEBs  (10%)
For (1i=0;1<n; it+)
For ( j=1; j<n; jtt)
x=x+1;

5. £ A[10]z Aedaqunt B 102 A[30]z A4tk 2 182 Rl B—MBAEL S
st ? (10%)

6. {5 A M F K meEds % 3B R P(x, v)=9x5+4x4y3+14x2y2+13xy2+15 ? (10%)

7. B F B % A Kruskal's algorithm 233t & &2 e 3R 5k 8 & B2 2 695 8(10%)

N
2L
el % %) B3




